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Topic:- Child Development & Pedagogy (CDP)

1) If a child has mental age of 12 years and chronologlcal age of 10 years then his IQ will be

gfe frelt o= &t aAlRre omyg 12 9 8 SR Srargw e 3mg 10 a9 @ a‘rmaniaq
(SfSwwm) ___ gFm

1. 80
2.120
3.125
4. 100

Correct Answer :-

- 120

2) Which of the following is an incorrect advantage of problem solving method of teaching?/

fafafad & 9 $19-H Rieor S IHT B ga $I1 Bt AT BT 7Terd a1 82

1. All disciplines cannot use this method to solve a problem / Tt ﬁ'@'ﬁﬁ‘f GRS q@'ﬁf BT ITINT U] B!
T B & forw gl HR Thd ]

2. Learners participate actively in the process / 38 Uferar & fremeft (1Y) fehT ®U & T ST §1

3. It makes the learner interested in the learning process / Ig Tt (1=1X) Y 31T9TeT &1 ufchar &
feeraredt feamar & |

4. Evaluation of learning using this method is easy / 39 UgTd &l 3TIIT Pl ﬁaﬁmww
3T & ST B |

Correct Answer :-

« Evaluation of learning using this method is easy / 39 UgTd &l SUIIIT Pl ﬁaﬁmww
3T & ST B |

3) Gray matter of the brain that controls IQ and memory have greater volume in learners who

. S iR Tfa ot Frfia s arar uiiass 1 3 Ay, Rrenfday & arfere
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AT H ST 3

1. get sufficient sleep/ TITH ig o<l dTel

2. take healthy diet/ TIEY HTER ol dTel

3. avoid stress/ dITd & T dTel

4. exercise regularly/ AT §0 @ caR—mH FA arel

Correct Answer :-

o exercise regularly/ fAIfRT TT & ITH FIA dTel

4) The is one who is more open, accommodating, venturesome, outgoing and pretty

confid%ent. / ___ 9% 8 ot 3if¥e ga, eaaR, STwsiid, 3999 iR S1w! safayr
qren gl

1. Introvert / 313?3’@?[

2. Intro-extrovert / 3-]FITJiEﬂ - aﬁ.zi‘@“r
3. Extrovert / Elﬁ‘oi'@ﬁ

4. Ambivert / SHIHE!

Correct Answer :-

« Extrovert / Elﬁ'oi'@ﬁ'

5) Obsessive-compulsive disorder (OCD) can be successfully treated using: / gﬂ?ﬁ-mm

faeR (3fEh) &1 awaargds sare e &1 SuanT S fHar o1 9o 3:

1. Cognitive behavioral theory/ SMTH® agR Rigid

2. Massage therapy/ &l R
3. Antidepressant medication/ TSIfSUAT &dT
4. Systematic family therapy/ FOTTelITd TRAR AT

Correct Answer :-

. Cognitive behavioral theory/ T3THTd® HdeR Rigid

6) Which is the SECOND step in the problem solving method? / ¥H¥IT WATHT fafr & qur
TIOT HiT FT T 82



1. Formulation of hypothesis / uReerafl &1 =g

2. Testing hypothesis / UR&GEUATHT T TL&TOT

3. Recognition and definition of problem / TFETAT T A=A 3R aRem
4. Conclusion / A&y

Correct Answer :-

« Formulation of hypothesis / TR& T3l T =TT

7) What part of our memory stores events that happened in our lives? / AR Fﬂfcl’ HT FleT
a1 B gAR S & afed geanst 1 #ER 82

1. Episodic memory /Eﬂﬁm Fﬂﬁ
2. Procedural memory / UThITcHA® A
3. Semantic memory / Qreery R{ﬁ

4, Declarative memory / HYUTHSB Fﬂﬁf

Correct Answer :-

« Episodic memory /um'% F{ﬁf

8) What is the first stage in moral development according to Kohlberg? /

Freaadt F AR Mas Bew #§ ggem =wor w7 2
1. Preconventional morality / E@-WCITITIFT Afdddr

2. Periconventional morality / URI-URFURETT ATdehdT

3. Conventional morality / UI&URETT = fddhdr

4. Postconventional morality / URYT-UIFUIITA Afdedr

Correct Answer :-
+ Preconventional morality / lij-rf-CITcFCITITJ'IT-T Afddr

9) What is the term Freud used to describe his theory of the structure of the mind? / %8 &

B g &1 39ANT Aq Y W F 39S Ry F1 quis F F e Faw

1. Consciousness / T

2. Iceberg / 3-1'@?47"[



3. Libido / ferfaret
4. Landscape / CE A

Correct Answer :-

o Iceberg / 3TEEN

10) What social motive is characterized by a need to control and influence others? /
Fia-a1 FrATfaF WF, g & AT F@ 3R 375wl F@ f sraeasar g@n
aftte 872

1. Power / 1Th

2. Achievement / 3TclTe)T
3. Affiliation / HIYU
4. Purpose / 382

Correct Answer :-

« Power / QIfth

11) Parents who believe in punishing the child show . dnETar-Rar st a5 # i3
F A Reaw a ¥, aufar ¥

1. Uninvolved Parenting / 3THdg (HTd=TcHb & & & 5T §3M) TR
2. Permissive Parenting / HW R

3. Authoritative Parenting / HTfAdIRG TIARA

4. Authoritarian Parenting / 3TTAGRATGT WAL

Correct Answer :-

« Authoritarian Parenting / 3TTRRATE UL

12) At what age does the child start to show an understanding of the language? / I<I o 37
# o7 Y WHS @ Y FT AT 87

1. At birth / SFH I &1

2. At three months / did Feldd T

3. At six months / &: ZFI@T-T L°L§



4. At nine months / & EF@?T I

Correct Answer :-

« At six months / &: Feldd U

13) The diagnosis for children having problem in word finding is ./ A H Usg @istet
&1 gAEAT F1 g giar Bl

1. Dyslexia / Brafagar

2. Dyscalculia / TSEherergferar
3. Dysnomia / IS BRI

4. Dystopia / fSEeift=r

Correct Answer :-

« Dysnomia / fB&faar

14) Which is not the principle of inclusive education? / @I-8T FATALAT fRram &1 ﬁ?{flﬁ C ]

g2
1. No discrimination between learners  /f1amiRijgds = Eﬁé HEHTT el
2. Separate classroom for special children /TR ‘Gt ‘dnferTisTerdT Hall

3. Bqual educational opportunities /& AT&TH TR

4. Catering needs of the all children /Tt gTdi T WU TILT STHIAT BT AT TGeAT

Correct Answer :-

« Separate classroom for special children /fIUW g=al & AT 37T PHaT

15) Which of the following is not a factor that will protect a child against stress? /

frafaf@a & @ wl7 91 v ag FrE JE § S g F gy vE T i @ e
1. Family / gRaR

2. Intelligence / @ﬁs’

3. Authoritarian parenting style / 3TTAGRATE TR Aelt

4. Peer relationships / Tedha! R



Correct Answer :-

« Authoritarian parenting style / HTTQhRATGT TIARLT Qelt

16) A 12 year old child understands that the weight of a table remains the same whether it is
right side up or upside down. What concept has he grasped? / T 12 "I &I d<dT g
AT & F UF A FT I I8 T ¢, 916 98 &S 3 & AT 3T g1l 39 Fd
fgeia # wa1s 87

1. Conservation / TI&OT

2. Inductive reasoning / 3TITHATCHD GG
3. Object permanence / d¥] TUTRcT

4. Hypothetical reasoning / URehfeUd da%

Correct Answer :-
« Conservation / TI&TOT

17) According to Psychosexual Developmental Theory, fixation to which of the following stages results in
dependency? / Al fwm U ¥ IqaR, Arafaf@a sEeamet § @ e uor
(Rrardterer) & fveiRar & guw gar &2

1. Anal / 7[&T (TeTel)

2. Oral / A& (3R)
3. Latency / gYaT (elH)
4. Phallic / oifdrh (%ferem)

Correct Answer :-

e Oral / FIf@® (30TT)

18) Growth always corresponds to the age of the child. This is because of the principle of WAL
FAAT a=d &Y 37 ¥ AA @aT gl TE & fRguia & FROT T §

1. Continuity / faRaxar

2. Uniform Pattern / ThTATT UeeT

3. Integration / TehTehOT

4. Individual Differences / Thep Heardr



Correct Answer :-
e Uniform Pattern / ThgHATA e

19) Which of these is the best way to improve problem solving skills in primary school children? /

wrafAed Reamey & geal # gaear FEner Slud & JUR F F1 q9@ HoT alls #4782

1. Solving mathematical problems. / IO FHATATHT T TATUTA HLAT|

2. Find solutions to problems that they face in their daily life. / 3T FHATATHT T FATITA GioreT, Heaepr o

U &fAs Saa & ATHAT WA El

3. Talk about their problems to peers in the class and the teacher. / 3cTchT THATITIHT &b IR H HET A TEUTS!
HR A&TH A G BT

4. Apply steps of design thinking process and engage with community around. / @1 $r Gfhar & X &
O T AL LT R AU b FHAGT b A1 e AT

Correct Answer :-

« Apply steps of design thinking process and engage with community around. / @ HI Uferar & TR
TR Bl o) LT R UM & FHGR & T eFE DTl

20) believed that personality develops through a series of stages and the effects of childhood
are long lasting. / &1 AT o7 % safFdea, IOt A 0F @A F ATCIA |

fAefaa glar & 3R s9ua & v o9 gAY (dF @ gl
1. Albert Bandura /Wa@
2. Jean Piaget /Gﬂ:[ﬁtﬂa

3. Sigmund Freud / T9THS WIS

4. Lev Vygotsky / ferd E||$3||(‘Q:|5ﬁ|

Correct Answer :-
« Sigmund Freud / RIS %S

21) Who described a phenomenon called horizontal decalage? / aifasr g?b_vl'm'{[ ATHS USAT HT guid
fFaer fFam

1. Erikson / 3R
2. Piaget / TSl

3. Freud / IS



4. Vygotsky / ArS Il

Correct Answer :-

« Piaget/ TS

22) The term normative development indicates: /| &2mca® R orsg Hﬁ?l' LT 8
1. Rate / @Y

2. Extent / HIHAT

3. Direction / f&oIT

4. Distinctive qualities / fafrg o7

Correct Answer :-
« Distinctive qualities / TafRrE IqoT

23) When environmental influences coupled with cognitive factors are responsible for learning, such a

learning is known as:/ ST§ 9ATaIUT UG, TAECAS SRS & AT Aaw? A#H & QT
R B & Y 59 avE & IR F @FT o A ST Far ¥

1. Operant conditioning / 3iTa¥€ IRy

2. Trial and error learning / Ucdel 3R gﬁf A
3. Social learning / ATHATISIh HTAITH

4. Classical conditioning / FelTfdhel dharerfetdr

Correct Answer :-

« Social learning / ATATISNS 3TAITH

24) As a future teacher, you will need to and connect with roomful of diverse students. /
T AT fRr8TR & T 7, 3T9HT Y Taehdr g1t 3R Affie o fr Famd a1
ST g

1. Deal / YT

2. Connect / 33
3. Understand / &S

4. Collaborate / &I



Correct Answer :-
o Understand / §HST

25) Which of the following is not an example of critical thinking skills? / RFafaf@d & ¥ wia-ar
gl R Flerer FTUF 3ETEI0T AST 82

1. Improvising /dclel AR Bl
2. Classifying /aaiiﬁa Pl
3. Tracking /e1&T]HIT

4. Describing /<IT&ATcHD

Correct Answer :-
« Improvising /dcehlel TR &

26) When children recognize that each individual is aware of other people’s thoughts and

feelings, then it is called:/mﬁﬁm?%mﬁwwaiw 3R
T3 & a7 §, ol T8 HeT oIl 8

1. social information role taking/ HTHTSIch AT HHDBI BT

2. social and conventional system role taking/'\qmﬁ?ﬁ 3R URUR G SETlT hr 9{@?5[ G
3. self-reflection/ 3T Ufafda (Fewh-Roreiarr )

4. mutual role taking/ 3Tadr 3-@?5[ T

Correct Answer :-

o self-reflection/ 3TcH Ufafda (Tew-Roaerr=T )

27) Why do we have culture-fair tests for intelligence?/ Bﬂﬁ' L'IES) §'®TI?IT & ﬁl'({ Wﬁf—
frger wderor ) 82

1. Intelligence tests should free of differences in language and education./ §@QFH BRI , HIST 3R
e & 3R I gad g AfeT

2. Cultural understanding is a part of intelligence./ W Y §@ Canyea e % I
3. Intelligence is culture-dependant./ g,lla Hi%({)l?ld)-&ﬂ UIRd g |
4. Intelligence can evolve/ g@ﬂ?ﬂ &1 o Ry fosan S godr % I

Correct Answer :-



« Intelligence tests should free of differences in language and education./ Ej@ﬂ?ﬂ TRI&TOT, HTST iR
18 & SfeR ¥ o g AT

28) Which of the following determines the impact of failure in school performance? / fFrafefea

A A H19-91 faemeay ues= # srywedr &1 uHTd fAuffya sxarg?

1. Time allotted is more than what is actually required to finish the task / 3rafed THT 3T S
3T § Sl aRad H B TR A & oY I & |

2. The pattern and setting of task / B BT U 3R TR

3. The Challenge - what the children asked to do—which is not engaging or relevant. / ﬂ:ﬁ?ﬁ S

S B & forw T 14T - 3hyes a1 Ui T8t Bl

4. Level of easiness in the task / BT § YITHAT h[ XX

Correct Answer :-

« The Challenge - what the children asked to do—which is not engaging or relevant. / ﬂ:ﬁ?ﬂ T 9

S B & forT T 4T - 3hyes a7 Ui 8t 8l

29) A learner is an intuitive learner if / 'CI'% U fQT&‘IT ?ﬁﬁg\_ﬂ' T gdd % 1} dg G| ﬁTIT?

1. They notice the big picture, see how everything connects. / G Jo! dWiR aad %, 3R I DS Fl»-|3_ A

PI UfehaT Bl &Edl 3
2. They pay attention to concrete facts and details. / q Hﬁ?‘f'&:ﬁ SMRFIRUNT IR &9 S g |

3. They focus on the reality of how things are. KIS w%, 2| dRdfdhdl UR &I ad %I

4. They like to describe things in a specific, literal way. / 9§ otoll 1 fafRry, reawr: 719 ¢EA ol
B P 5|

Correct Answer :-

« They notice the big picture, see how everything connects. / q ®|<?‘nl dWR oW %, 3R I ) \_rilg_ A

o ufchaT BT SWd B

30) Which famous professor proposed that children move from a position of egocentrism to

sociocentrism because of social interactions? / fr® Uflqy MW & wfawfea fFam & s==r
IS Ul & HROT, AcAbrad RUT T TATSART 61 AT d6d 82

1. John Dewey / S g%

2. Lev Vygotsky / oI drgaicehr
3. Jean Piaget / S TOma



4. Howard Gardner /@d$ MR

Correct Answer :-

o Jean Piaget / S fUama

Topic:- General Hindi (L1GH)

1) I3 fFam sit, 35 foram ai,
aTed iR g @

RN W-WN TG &
arft & e §
STHM WR T 3@

TR I, W@l

T T8 € IHS-YAS B
FTd 1A a1 ¢@ d

A% 1ot F 4R Y
YA Y &

TE TS AP TS

T AR, fad gras

& forg, s R

fRrg, wel @ wawe g

v 9 Wt urgH, g,

¥ Y I §

S Ui $1 UgH 19 IR WM a1d U= $T Ik Farsy|
WA: "SR BT ST FIT 82
1. §AER AR @R grar
2.3 § PIg AL

3. Il GeR

4. hadd FAMR

Correct Answer :-

o AR 3R @aw Al



2) 33 fPaM 3, I8 fam o,
a1ed iR e 8

R E-WR @ &

arft & e §
STHH WR T 3@

TR I@ A, W@l

T T8 € IHS-YAS B

FTd 1A df® ¢@ d

A% 1o F 4R Y
YA Y &

TE TS AP TS

T AR, fad qras

& forg, srpd R

forg, wel @ wewe g

f%e & ueat urgH, 9,

¥ WY MY §

ST Ui $1 UgdR -4 UD W a1d U= o1 Ik Targg|
U: TR BT qiaardl 2sg 1 781 872
L&

2. 3T

3. b

4. faemufa

Correct Answer :-

. faemufa

3) 3o fram s, Is fram o,
a1ed fov ame §

RN - G &

areft & amg &
STHAT WX 74T 3@ dt

TR IT @, W@ al



HTd 1A df® ¢@ d
A% T F 4R Y
I 91T §

TE T AP 3§

T YR, 3fad qrarg
& g, srpa o

forg, el & gawR o
% 9 yeat urgH, T,
TR MY §

ST Ui $) UgH 9 U9 WM ard U= $T I} Farsy|
U: dId fhad Ay § ?
1. fplTT &

2. fpeTed & gRar

3. @dr

4, grad &

Correct Answer :-

. fpaT &

4) 3o feam aft, I fram o,
e R Mg §
NN A &
|t 3 3me §
STRTAT WX 7T ¢ al
TR @, SW @ @l
T T ¢ SHS-YHS B
HTet qTgel dfP o@ dt
A% UToT F 4RA B
YA Y §

TE T AP 3§

T AR, fad qRas



& forg, srva R

ferg, wel | wawe amg

fhe 3 W uTgH, T,

R W MY F

ST U B! UgHR 1 IS 9F a1 W= T Ik Jars|
WA “qRaTs’ BT 3 T g 32

1. fR& & 3R T arell gaT

2. Gf&TOT &1 AR Felar arell gar

3.9d & 3R A Teldl arell &ar

4. 3R P IR Toldl drell gar

Correct Answer :-

o q@ N AR F T arel g

5) 33 fHar oft, Ia fam af,
a1ed iR e 8
V- W AT &

arft & e §

ST WR T ¢

TR I, W@l

T I8 § SUS-YHS B

FTA 1A a1 ¢@ d

A% ot F 4R Y
YA Y ¢

TE TS AP TS

T AR, fad qRas

& forg, srpd R

forg, el @ wawe g

f%e & ueat urg, 9,

¥ WY ST §

S Ui $1 UgH 19 UD WM a1dd U= $T Ik Farsy|
U "2 [RAS’ A IMRA 8 ?



1. 997 T
2.9

3. &8 g
4. GHST BT

Correct Answer :-

6) 33 fHam 3it, 33 fFam 3,
a1ed fov ame §

N W- W AT F
|t & e §
STHAT WX 4T 3@ dt

TR @ dl, SW @ al

FTd 1A df® @ dl

AR o & A B
I 1Y §

TE AT AP 35

T YR, Ziad qrarg

R forg, srva Y

forg, el & gawR o

% 9 yedt urgH, 4,

¥ WY I ©

ST Ui &1 UgH 4 [P WM a1d U= $T I} Tarsy|
TR UTgT &1 3 T 82
1.3 & PIE el

2. haol AGHTA

3. el Ay

4. AgA IR FARY At

Correct Answer :-



7) 3o feam s, 3o fram o,
a1ed fov ame §

RN W- W G &

areft & amg &
STHAT WX 741 3@ dt

TR IT A, W@ al

STt a1Gd df® ¢@ d

A o & A B

YA Y &

TE T AP 3§

WY AR, Maa Rag

& forg, srpa oY

ferg, wel | wawe amg

f5R 3 R g, T,

W MY F

ST UL B TgHR -1 IS 9 a1ad U= BT Ik garse|
WRA: AT BT @ g 71 32
1. AT

2. 379

3. faemu

4. dTell

Correct Answer :-

8) 3 fFum 3f, 3o frar i,
aTea R 3 €

R E-WR AT &

arft 3 e



STHAT WX 74T 3@ dt
TR IT @, W@ al
HTd dIgd d® ¢@ d
R yron F 4R HY
YR A §

TE T AP 3§

T YR, Xad qrarg
& forg, srva R

ferg, wel | wawe amg
v 3 wedt uigH, g,
W MY F

ITYe U= ) Ugeh? 9 YR 9 a1l U &7 Swi¥ Sd13¢|
U: 9IGd $ T4 I8 82
L. SIH-SIHA

2. 3HAS-GAS

3. "gdd-"dd

4. BH-SH

Correct Answer :-

9) 3 fHum 3f, 3o frar i,
a1ed iR e 8

RN E-WR AT F

arft 3 e
STHH WR T 3@

TR I@ A, W@l

T I8 § SUS-YHS B

FTA 91Gd a1 ¢@ d

A% ot F 4R Y
YA Y ¢



TE T AP 3§

T AR, faa qras

& forg, s Y

fRrg, el @ wawe g

v 9 Wt urgH, g,

YW MY §

IuYe U= ) Ugehs Y YR 9 a1l R T 3@} §a1s¢|
;e BT 3 71 32

1. fasita

2. AT-41

3. g
4, 37TARILr

Correct Answer :-

. Ylsr-Ar

10) 3o fram 3ff, 38 foar s,
a1ed fov ae §
NN W AT S
arft & e
STHAT WX 4T 3@ dt
TR @ dl, SW @ al
P digd dfeH o@ al
A% T F 4R Y
I 1Y §

TE T AP 3

T YR, Ziad qrarg
& g, spa o

forg, el & gawR o
% 9 yedt urgH, 4,
AW MY F



ST Ui $1 UgH 19 IR WM a1dd U= $T Ik Farsy|
TR \SIe’ $T Ugigard W 82

1. %d

2. AY

3. e

4., STeIRTT

Correct Answer :-

11) 33 fPam 3f, 35 fFam e,

a1ed foR ame §

RN W- W G &

areft o &

STHAT WX 4T ¢ dt

TR T @), IW @ Al

STt a1Gd df® o@ dl

A o & A B

YA Y &

TE T AP 3§

WY AR, Maa Rag

& forg, srva R

ferg, ®el | wawe amg

bR & TRt uTgH, A,

R W MY F

ITe U= ) g Y YR 9 a1l R o7 Swi¥ §a1s¢|
U= U Ut ® i wdA &1 auiq 82
S

2. FR

3. Gt

4. ATde



Correct Answer :-

12) I3 fHam 3i, 3o frar o,
e R Mg §

NN A &

|t I 3me §
STRTAT WX 7T ¢ al

TR T @, SW @

T T ¢ SHS-YHS B

HTet qTgel dfP o@ dt

AR TN F A B

YA Y §

TE T AP 3§

T AR, fad qras

& forg, s Y

forg, wel @ wawe g

%3 3 weelt g, 9,
YW MY §

ITYe U= ) Ugehs 1Y YR I a1 R T 3@} §a1s¢|
U: QRATS [ g Iaede oS o2
1.

2. T

3.2
4. fpara

Correct Answer :-

13) I3 fpam i, 3o fram an,
91 AR 3T &



NN AT &
|t 3 3e §
STRTAT WX 7T ¢ al
R IG @, SW @ @l
T T ¢ SHS-YHS B
HTe qTgel dfP o@ dt
A o F A B
YA Y §

TE T AP 3§

T AR, fad qRas
& forg, s Y

forg, el @ wawe g
v 9 Wt urgH, T,
YW MY §

ITe U= ) g e YD S Tt WA &1 Iwi? Sarsv|
UL qRATS B3l gielt 82
1. frder

2.3 § P el

3. {3 & FAT

4. I

Correct Answer :-

o Nda

14) 33 fHar i, 36 frar i,
aTee Rk emg
NN W AT F

|t & e §
STHAT WX 4T 3@ dt

SR IE@ A, W@l

HTd a1Gd df® ¢@ d



A% WIOn # WA
YA Y &

TE T AP 3§

T AR, fad qras
& forg, srpd R

g, el & aow? 3mg
v 9 W urgH, g,
a¥ Y I §

S Ui $1 UgH 19 UD WM a1d U= $T Ik Farsy|
URH: 91qd -

1. Sterd

2. fRa €l

3. 9rad

4. hd Tl

Correct Answer :-

. o €I

15) dffrarg § Ui dieR MY A1 # 3RY & IR 3l d% W/l Siai8 | UiTa & uga fa1 e iy &1
TER T &1 R TR B AWBTS DI 11 31 TN TGiaR0T W5 81 A1a1 2 1 URf & 1 3w &Y 9= &t ok
I TSR GRMAT T4 § | 9Ta & 3 @R-3U1E & Tl I 9rd § 1 TeT-aiey gt @1 ¢ S8 ugd 8
I a1 9 T T g1 31 AT H Sifidt STemer AT el & UiTTe T S 81 a7 H gedt &7 hr a5
foar wirar 81 T3 & 3 A T B BT II9d IS ST 3 | S Iad ITABY SHUR IodT ¢ al IUH g¥ ST &
T ¥ &A1Y IHAT g3 THTA FeiT & SHUR A TSl § 3R IRY 3R R o & euss usar g1 39 969y
wmmmg@amm%mmaﬁm% “OiTe Ui’ I8 wIAdn gt @ b g ok erfir A
T BT HRT WeR 37 foran 31

IUT TR F UgHR 17 IR 7Y U= $T Ik Jarsy|
WA: TET-UIHR Gt TR a1 Ugd 62

1. [ $US UEAd ¥l

2. He PUS Ued &l

3. 3 Ugeld ol

4. 9T $US Uged B

Correct Answer :-

« AT HUS Ugad gl



16) affraTg o NI dieR NV AT § 3RY & IR &) @ w-man omar 8 1 e & v fa1 v iy &1
WER 74 81 R TR B JH1E &1 St 81 399 wafarvr Wss gl wirar 31 Ui & @9 =mw &t 9= @t 8k

T TR GRAT F41d &1 N & 37 R-3i1E &Y Felt | Ioird €1 F871-e? 94t @hr 9 us ugd 21
I 37 99 $© 71 gla1 31 AT A 3ifid Srere? AT a1 & e uehTan S 8 1 a9 § gedt o7 e |
f&ar ST 31 T & 9 ° R BOd BT I9d UHTI S1dT 8| 99 19d ITaDY SHUR 36T § df 3TN g¥ ST &
T1 U P ATY IHBAT 3T U Tl & SWR A SHSAT § SR TRI 3R Frad 3ifa d eus usar 81 39 997
TRI 3R gPg AN G A 19 334 7 3R wr | fereerma 8- uiwa diren 3= wadar gkt @ fp g ol erfyr A
TITel T YT THPR $1 o g1

ST TRl F UgH 1 U T Y= T I«ik Farse|
WA: iTe fh WA § weman e 82

1. gl

2. FIfAD

3. Bl

4.3

Correct Answer :-

17) affrarg o UiTe @R WY A # 3RY & IR &A1 9 74t oirar 8 | TiTa & g fa1 anr iy &1
TR 14 B 1 T OR Bt WIS BI STet 81 399 Taiarvr Wes gt a1 3 1 Wil & & =ma ) 3= &a 8k

T ToTH? GRET A § | 9Td & R SR- TS il | Feid 8 1HeT-tiet T @R e S ugHa g
39 o W9 $© 71 811 81 I ¥ 3ifid) Samep AT ad- § UiiTd Ut ST 3 | I A geal BT e qref
T Sirar 31 T & 9 ° R BHa &1 I9d USRTSTdT ¢l o9 giad 39ad 3T SodT ¢ df 3uH gY STd &d
T1 U P ATY IBAT 3T UITE Tl & SWR A SHSAT § SR TRI 3R Frad 3ifg # eus usar 81 39 90g
TRI 3R sHg AN GM A 719 I5d § MR W1 A Ry §- "o e 3+ wadan gt 8 5 g oiv aifyr =
T BT YT PR B foran g1

IUa TR P UgHR 1Y YR Y U= $T Ik Jarsy|
W: Ui foras g STt 872

1. o0 H

2. 3908y H

3.9 A

4. FeX A

Correct Answer :-

. NS H

18) daffrarg ¥ Ui dieR MY AT # 3R & IR 3 & w=man wimar 81 uina & v fa1 ahr iy &1
TR 714 &1 T WX $Y W1 B1 STt 81 399 Taiarvr Wes g et 31 ¥l & 2 = ) a=8 &a 8k



I FATHY GRMAT T4 § | 9Ta & 3 €R-3U1H &Y Tt 3 grd § 1 TeT-aiey gt @ e S8 uged 8
I a1 9 T T gian 31 AT H Sifidt STemer AT a1 & UiTTer T St 81 9o H gest &7 nr a5
foar wirar 81 T3 & 3 A T B BT AIad UHTIT ST 3 | S Iad ITABY SHUR IodT ¢ al IUH g ST &
T U &A1Y IHAT g3 THTA FeiT & SHUR A ITSAT ¢ 3R IRY 3R R offg & euss usar g1 39 909y
TRI 3R 3Hg AR G | A1 334 7 3R N | fareera @8- oire airen’ 32 ursAan gt @ b g 8 eifyr 3
T BT HRT WeR 37 foran 31

SULTH T $ TGP A2 TS T U PT IR AR
WA: 9IS T 82

1. AEHA 3R Fg

2. fRve 3R @raar

3. 7R 3R o

4. {e 3R *®J

Correct Answer :-

. TR 3R cgea

19) ARYEATg ® TITd QieR WY A1 § 3RY ¥ =R 3 9o A= Sira 21 Ui & ugd faT & iy a1
WIER A &1 [ OR Pt WIS BI ATt ¢ 1 399 Yaiavv] T g1 el | {3t & &7 79 &) 9= od iR
TS FoITH GRET 414 &1 TTe & 3 TR-3(1F & 3melt § Joira 81 Fg1-¢iex 92 @1 9 $us ug-d 21
I 371 9 T© T §la1 81 AT H 3t STerd? AT el | UITel UhTaT STl 8 | 9o § geat o7 WT a5
foar wirar 81 13 ¥ 39 A T B BT GIad IS 1T 3 | 5 99 ITAB SHUR IodT ¢ al IUH g¥ ST &
T gY & ATy IHAT g3 IS Feil & SHUR A IHSAT 8.31% RIS RFP g ¥ 20 usar g1 39 99
TRI 3R 3Hg &R G | A 334 7 3R SN 9. fueed 8- uiira diral 8- uwsdr sl @ f g 8fiv eifir 3
T BT YT WPR B3 forar B

IUYT TR Bl UGHR A IS 7Y U $T Sk 9a1s¢|
ue: 3 &1 yafgar e e 82

1. el

2. Urqd
3. Uldsh

4. 3191

Correct Answer :-

20) dftreATg ® WTe deR Y AR # SR & 9 3 a@ weman wirar 81 ia & ugd o @i Wil @
WER F1d &1 [ OR St AW1S B1 ATt ¢ 1 399 Iaiarvr Wes gl oral 3 1 Uit & &1 =ma &) a= &l 8k

T FoITH GRET 414 81 N & 37 R-31 &Y Jelt A Joird €1 F81-eie? 93t @1 9¢ wus ugd 21
I a1 99 T T gian 31 AT H Sifidt STeme? AT el & iTrer T S 81 9o H gedt o7 hr a5
foar wirar 81 T3 F 3 A Tl A BT A9 IS SA1GT 3 | TS Iad ITABY SHUR IodT ¢ al IUH g¥f ST




£1 Y & ATY IBAT AT U Tl & SWR I SHSAT § 3R IRI 3R FAHR 3ifa # T usar 31 39 99g
TRI 3R 3hg @R G | A1 334 7 3R N1 | fareera 8- oire wiren’ 32 ursAdn gt @ b g 8k erfir 3
T BT URT WieR 3R foran 31

IUYE TR Bl UGHR A IS 7Y U $T Sk 93¢
= 5T woa &1 araa e ¥ s g vanT faar S 82
1. 398 § PIS gl

2. AT BEA &I

3. QAT B Pl
4. QU AR 8 QAT Bl B
Correct Answer :-

o AT BHA Bl

21) dftreATg ® W ©eR 1Y AT # 3R & R 3 a ATar wirar @1 9id & ugd 3T @ Wiy @
TR 1A &1 T OR Pt W1 BI ATt 81 399 Iaiarvr Wes gl orar 31 Wit & &1 =ma &) a= & 8k

T TP GREAT T4 § 1 9T & A €R-310H &Y Tl  Ford € 1 FeT-tiey gt @ AU $US ugd 8
I & 9 o T gar 81 S H SifidY Sy AU ad+ § vita usbTan Sran 21 961 A ged BT ey av
far ST 31 T & 9 H T BHA BT I9d USRI Sl 6| 99 Tad I9a9 $HUX 3647 § df SuH g¥ STd &
T1 Y & ATY IBA1 §3HT UITE Teil & SWR I SHSI ¢ 3K IRI 3R Reae? 3iTa & 20 usdl 81 39 99g
TRI 3R 3hg @R WA | 91 334 & 3R N1 A fereerd 8- 9ire qire” I8 uadr gl & foo g 8k 3rfir 3
T BT W WieR 39 foran 31

ST TR B Ughs - T T U= $T @k ad154|
A Wt & 39 o= Far vd 72

1398 & PIg

2. Fad IS TS

3. ol Tl Tl &

4. gt 3R Tt gl aoltd §

Correct Answer :-

. O 3R g At gea B

22) dftreArg ® W ©eR 1Y AT # 3R & R 3 a6 HHTan wirar @1 id & ugd o @ Wiy @
WER 1A &1 T OR Pt AW1S BI ATt 81 399 Iaiarvr Wes gl orar 21 Wit & &1 =m0 &) a=8 &l 8k

T TR GREAT 74 § 1 9T & R €R-310H &Y Tl  Ford € | FeT-tey gt @ AU $uS ugd 8
I & 9 7o T ghar @1 S # it Srarey ¢ a1 A vl Tt Sran 31 a6l o ged! BT ey |
T wmar 81 73 & I ° T B BT II9d UHTT A1dT ¢ | G I1ad ITAB SHUR 36T § al SUH g¥ ST ¢
£1 Y & ATY IHBAT AT U Tl & HWR I SHSAT § 3R TRI 3R FrAd 3ifa d Tus usar 81 39 997
TRI 3R 3hg @R G | 91 334 & 3R w1 | fereera 8- oivre airen 32 ursrdn gl @ f g 8k erfir 3
T BT WRT WieR 3R foran 31



SUT TR P UgHR A2 IR Y U= $T Ik Farsy|
U T Rt & ) A 9ed 82

1. 37T & T S FROT

2. & 31¥d @ &b BROT

3.0 9 AP & THABA & HROT

4. g7 g AP & GloTel P AT FHDPR A & DRI

Correct Answer :-

o ¥ T AR & UHTeT dT AT FHNPR IRA & HROT

23) dfieTg # UTe iR Ny 71 # SRY & R &Y 9 79 Sirar @1 9 e & ugd & @ il @
TER T &1 R TR B AWBTS D1 A1d1 31 3TN Taiarvr w5 81 9ra1 21 Hif & 1 =ma ) 9= < ok

I TSR GRMAT T4 § | 9Ta & 3 aR-3U1H & Tl 3 gord § 1 FeT-aiey gt @1 ¢ S8 ugd 8
I a1 U9 T T g1 31 AT H Sifidt STame? AT a1 & e T S 81 9o H gedt &7 nr a5
foar wirar 81 T3 & 3 A T B BT IIad IS ST 3 | S Iad ITABY SHUR IodT ¢ al IUH g¥ ST <
T ¥ &A1Y IHAT g3 THTA FeiT & SHUR A ITSAT ¢ 3R IRY 3R R offg & euss usar g1 39 969y
TRI 3R 3hg AR G | A1 334 7 3R N | fareera 8- oire giren’ 32 usAan gl @ b g 8iv eifir 3
T BT HRT WeR $2 foran 31

ITYE TR B! USHT e I 7Y Y= BT I« 9130
WA: T | 9T ST ST 92

1398 & PIg ¢l

2. AA I aar

3. diuel T gier

4. TodT oI aier

Correct Answer :-

o Todl a1 g

24) dffEATg ® O R WY A A RY & AR oA 9% wATar wirar 31 e & ugd T @ uiRfy @1
TER T &1 R R B AWBTS DI A1 31 3TN Taiarvr w5 81 A1a1 21 Hif & 1 =ma Y 9= <t ok

I TSR GRET T4 § | 9Ta & & 9R-341H Y Tt 3 grd § 1 TeT-aiey gt @ ¢ S8 ugd 8
I a1 9 T T gian 31 AT H Sifidt STeme? AT el & e T St 81 969 H gedt o7 hr a5
foar wirar 81 T3 & 3 A T B BT AIad UHTIT ST 3 | S Iad ITABY SHUR IodT ¢ al IUH g¥ ST &
T U &A1Y IHAT g3 THTA FeiT & SHUR A ITSAT ¢ 3R IRY 3R e o & euss usar g1 39 969y
TR 3T shg 1T G A 1 I5d ¥ 3R S A Rieemd 8- "dive dirar 3= uredr gt @ 76 g eiw afyr v
T BT U PR B o 21

ST T DI UGHT A1 I Y Y= BT IR 91|
W "gEiaRr &1 A6y fasse war gm?



1. Gy + 37TaRoT
2. gR@+ 31T
3. ORI+ 3707

4. T+ 3707

Correct Answer :-

o T+ 37’07

25) dfirerrg # UiTe dieR N9 A1 # R & IR oY 9@ #mar St 81 vie & ugd fo e iRl @
WIER 1A &1 [ OR $t gW1S BI ATl 81 399 Iaiarvr Wes g1 oral 3 1 Wit & &1 =ma &) a= &fd 8k

T ToITH GREAT J41d 81 N & 37 R-31F &Y Felt A Joira €1 7871-4e? 93t @hr 9¢ wus ugd 21
I 31 99 T a1 glar 31 3T N 3ifidt STemer AT el & UiTrer T S 81 969 § gedt &7 e 9
faar wirar 81 T3 & 3 A T A BT AI9d USTIT STdT 3| S Iad ITAB SHUR IodT ¢ al IUH g¥ ST
T1 Y & ATY IBAT AT U1 Tl & SR I SHSAT § 3R IRI 3R FrAHv 3ifa # T usar 31 39 99g
TRI 3R 3hg @R G | A1 334 7 3R N1 | fareera 8- oivre airen’ 32 ursAdn gt @ b g 8k erfir 3
TITe BT U PR B o 21

ITY TR B! TSP 1R I Y Y= BT IR ad13¢|
H: UIE & o wagpe S g 8?2

1. T

2. Ut

3. 5d15

4, fTRI®

Correct Answer :-

26) dftrerg # GITe ieR N9 A1 # R & IR oY T #=man Siar 81 vie & ugd fo v iRl &
WIER 1A &1 T OR $t W13 BI ATl 81 399 Uaiarvr Wes g1 oral 3 1 Wit & &1 e &) s= &l 8k

T FoITH GRET F41d 81 N & 37 R-31 &Y Felt A Joira €1 78T1-e? 94t @hr 9 sus ugd 21
I 371 99 T 71 g1 31 3T N 3ifidt STeme? AT el & UiTrer T S 81 a9 § gedt &1 ey |
far wirar 81 T3 & 3 A Tl BAd BT ATad USTIT 1T 3| T Iad ITAB SHUR o7 ¢ al IUH g¥f ST
T1 Y & ATY IBAT 3T U1 Tl & SWR I SHSAT § 3R IRI 3R FrAHR 3ifa # T usar 31 39 90g
TRI 3R 3hg @R G | A1 334 7 3R N1 | fareera 8- uivre airen’ 32 ursAdn gl @ fb g 8k erfir 3
T BT U PR B fRrar 21

ITYE TR B! TSP 1R U Y Y= BT IR ad13¢|
TR: UTA & Ugd fo=T @l #14 A1 @igR 71 82

1. HIET &

2.3 § FIS AL



3. Bloil ol
4, 7N &1

Correct Answer :-

o AN T

27) dftEArg ® 9T R WY A A RY & °R o) 9 wATar wirar 31 v & ugd T @ uiRiy @1
TER T &1 R TR B AWBTS DI A1 31 3TN Taiarvr w5 81 Ara1 21 Hif & 1 =ma Y 9= <t ok
I FATHY GRMAT T4 § | 9Ta & & @R-3U1H Y Tt I gord § 1 TeT-aiey gt @1 ¢ $US ugd 8
I a1 9 T T g1 31 T H Sifidt STeme? AT a1 & iTTe T St 81 9o H gest &7 hr a5
foar wirar 81 T3 & 3 A T B BT IIad IS ST 3 |1 S Iad ITABR SHUR IodT ¢ al IUH g¥ ST &
T 1 ¥ &A1Y IHAT g3 THTA FeiT & SHUR A ITSAT ¢ 3R IRY 3R R offg & euss usar 81 39 9697
IR 3T shg T G A 1 I5d ¥ 3R S A Rieemd 8- "dive dirar 3= uredr gt @ 76 g eiw afir v
T BT U PR B R 21

SULT T $ TGP A2 TS T YT PT SR AR
WA: IS SR | 941 181 g1l 872

1. 999 & ool &T O S ST &l

2. AT Ferd-4aia A8l B

3. | A AHS Bl ¢

4, BR-319T Y el ¥ Frge gl &

Correct Answer :-

o AN FAeA-Ad ol &

28) dfieTg # UITe iR Ny A1 # RY & 9K 3} a9 7= Siar @1 9iTe & ggd i o ifl &1
TER T &1 R R B AWBTS 31 11 31 3TN Taiarvr w5 81 9ra1 21 Uif & T 3w Y 9= &t ok

I TSR GRET T4 § | 9Ta & & @R-3U1E Y Tt 3 gord § 1 TeT-aiey gt @ e S8 uged 8
I a1 9 T T gian 31 AT H Sifidt STemer AT a1 & UiTTe T S 81 9o H gest o7 e 9
foar wirar 81 T3 & I A T B BT IIad UHTIT ST 3 | S Iad ITABY SHUR IodT ¢ al IUH g¥ ST &
T U &A1Y IHAT g3 T FeiT & SHUR A ITSAT ¢ 3R IRY 3R s offg & euss usar g1 39 90y
TRI 3R 3Hg AR G | A1 334 7 3R N | farcera @- oire airen’ 32 ursAan gt @ b g 8 eifir 3
T BT HRT WaR 37 foram 31

SULT T $Y TGP A2 TS T YT PT SR AR
WH: I $g1 HATAT STl 32

1. ST

2. dffeleTg

3. fgoelt

4. 3189H



Correct Answer :-

29) dffEATg ® N AR WY A A RY ¥ °R A1 9% wATar wrar 31 e & ugd T @ uiRfy @1
TR A1 B 1 T OR Pt W1 BI STt 81 399 Taiarvr Wes g orar 31 Wil & &1 =ma ) a/=8 & 8k
I ToTH? GRET 74 § 1 9Td & R €R-310H Y el § Jore €1 FeT-tey g @ AU $US uga g
39 o 79 7o a1 ga1 81 i # 3t} Sare AU ad= # uier usTan SArar 31 a9 A geit BT e are
f&ar ST 31 T F 9 ° R BOa &1 I9d ST 19T 8| 99 919d ITaDY SHUR 36T § df SN g¥ ST I
T1 gU P ATY IBAT 3T UITE Tl & SWR A SHSAT § 3R TRI 3R Fraw 3ifg d eus usar 81 39 90g
TART 3R 3P N1 G AV 19 334 § 3R o | foreera 8- uiwe diren 3= wadar gkt @ fop g ol erfyr A
T BT YT PR B forar g1

ST TN DI USHT A1 IS Y YR BT IR 9a1s¢|

URH: d19d fHaH UHTT STdT 32

1.ear &

2.9l & T H

3.7 #

4.9 #

Correct Answer :-

c T F T A

30) 35 fraTT 311, 35 fFa= 3,
ager AR ame §

AN - FET &
arefy ¥ e §
ITHAT T 97T & ar
U 3@ A, 3w ' al
Flel dIgd dfes a@ ar
Ay gt F e &
ST IET A0 §

I AT AT TS
W Ay, fide @
N AT, 3Fa N



faT, Fgl ¥ TaIHT INE

R & s aige, g,

X =X e §

39AFT GEHA FT YGHT Al & I I WA FT 3cal TASTI
9ol digd fRdeT & T Fr O &7

1. &1 T[T

2. faremd

3. AT

4. UATA

Correct Answer :-

Topic:- General English(L2GE)

1) Read the poem carefully and answer the question given below:
What if you weren’t born beautiful?

What if your head was bigger than it had to'be?
What if you made weird noises?

And couldn’t speak?

They push you

They pressurize you

But to read never made any sense

What if you got angry over little things?

What if you didn’t have any friends?

What if you imagined things in your head?
They call you stupid.

They say you're senseless

They say you're “'special”

When you think like a mad man

Does the world feel that you

Also feel?



You see?

You try to believe

Just what if you were special?

What if you meant the world to someone?
What if I tell you,

I care...

What if...?

Why not...?

At the end of the poem the speaker says that she will .............. the reader.
1. fight for

2. go away with

3. ignore

4, care for

Correct Answer :-

e care for

2) Read the poem carefully and answer the question;given;below:
What if you weren't born beautiful?

What if your head was bigger than it had to be?
What if you made weird noises?

And couldn’t speak?

They push you

They pressurize you

But to read never made any sense

What if you got angry over little things?

What if you didn’t have any friends?

What if you imagined things in your head?
They call you stupid.

They say you're senseless

They say you're “'special”



When you think like a mad man

Does the world feel that you

Also feel?

You see?

You try to believe

Just what if you were special?

What if you meant the world to someone?
What if I tell you,

I care...

What if...?

Why not...?

What could be the title of this poem?
1. A Big Head

2. A Lonely Boy

3. What If

4. An Angry Man

Correct Answer :-

e What If

3) Read the poem carefully and answer the question given below:
What if you weren't born beautiful?

What if your head was bigger than it had to be?

What if you made weird noises?

And couldn’t speak?

They push you

They pressurize you

But to read never made any sense

What if you got angry over little things?

What if you didn’t have any friends?

What if you imagined things in your head?



They call you stupid.

They say you're senseless

They say you're “'special”
When you think like a mad man
Does the world feel that you
Also feel?

You see?

You try to believe

Just what if you were special?
What if you meant the world to someone?
What if I tell you,

I care...

What if...?

Why not...?

The speaker in this poem is asking you to ....
1. act

2. create

3. dream

4, reflect

Correct Answer :-

o reflect

4) Read the poem carefully and answer the question given below:
What if you weren’t born beautiful?

What if your head was bigger than it had to be?

What if you made weird noises?

And couldn’t speak?

They push you

They pressurize you

But to read never made any sense



What if you got angry over little things?
What if you didn’t have any friends?

What if you imagined things in your head?
They call you stupid.

They say you're senseless

They say you're “'special”

When you think like a mad man

Does the world feel that you

Also feel?

You see?

You try to believe

Just what if you were special?

What if you meant the world to someone?
What if I tell you,

I care...

What if...?

Why not...?

The poem depicts the poet’s:
1. unconditional love

2. physical beauty

3. intelligence

4. knowledge about special children

Correct Answer :-

e unconditional love

5) Read the following passage and answer the questions that follow:

When like minds meet, the hormone Oxytocin is believed to be released by the brain and this is what
forms that instant connection between people. Oxytocin has been dubbed as the love hormone too
in popular media adage. Whether the ‘twain doth meet’ thanks to a chemical reaction or not, where
their relationship goes thence is purely determined by this strange chemical. Imagine if each
emotion had a hormone associated with it, maybe emotions would have their names accredited to



their related hormone and new associated diseases may crop up owing to the deficiencies in these
hormones. Who knows then an age where one is prescribed hormonal replacement therapy to
increase a particular feeling may not be too far in the offing.

What does the word ‘adage’ mean in the context of the above passage?
1. Parlance
2. Listening
3. Demand

4, Threat

Correct Answer :-

e Parlance

6) Read the following passage and answer the questions that follow:

When like minds meet, the hormone Oxytocin is believed to be released by the brain and this is what
forms that instant connection between people. Oxytocin has been dubbed as the love hormone too
in popular media adage. Whether the ‘twain doth meet’ thanks to a chemicai reaction or not, where
their relationship goes thence is purely determined by this strange chemical. Imagine if each
emotion had a hormone associated with it, maybe emotions would have their names accredited to
their related hormone and new associated diseases may crop up owing to the deficiencies in these
hormones. Who knows then an age where one'is prescribed hormonal replacement therapy to
increase a particular feeling may not be too farin the offing.

What can you infer from the above passage?

1. That Oxytocin is the causal factor behind all emotions

2. ltis a tongue in cheek comment on a finding regarding hormones
3. That all emotions have an associated hormone

4. None of the above

Correct Answer :-

e Itis atongue in cheek comment on a finding regarding hormones

7) Read the following passage and answer the questions that follow:



When like minds meet, the hormone Oxytocin is believed to be released by the brain and this is what
forms that instant connection between people. Oxytocin has been dubbed as the love hormone too
in popular media adage. Whether the ‘twain doth meet’ thanks to a chemical reaction or not, where
their relationship goes thence is purely determined by this strange chemical. Imagine if each
emotion had a hormone associated with it, maybe emotions would have their names accredited to
their related hormone and new associated diseases may crop up owing to the deficiencies in these
hormones. Who knows then an age where one is prescribed hormonal replacement therapy to
increase a particular feeling may not be too far in the offing.

What does the phrase “the twain doth meet” mean?
1. Meeting of the twain is caused by Oxytocin

2. Two particular people do meet

3. It is unlikely that the twain shall meet

4. Mark Twain does meet people’s expectations

Correct Answer :-

* Two particular people do meet

8) Read the following passage and answer the questions that follow:

When like minds meet, the hormone Oxytocinis believed 'to be released by the brain and this is what
forms that instant connection between people. Oxytocin has been dubbed as the love hormone too
in popular media adage. Whether the ‘twain doth meet’ thanks to a chemical reaction or not, where
their relationship goes thence is purely determined by this strange chemical. Imagine if each
emotion had a hormone associated with it, maybe emotions would have their names accredited to
their related hormone and new associated diseases may crop up owing to the deficiencies in these
hormones. Who knows then an age where one is prescribed hormonal replacement therapy to
increase a particular feeling may not be too far in the offing.

Which of the following statements is true as per the passage?

1. Hormones play a vital role in keeping depression away

2. In colloquial terms, Oxytocin has been christened the love hormone
3. Deficiency of Oxytocin can nudge people to fall in love

4. Like minds meet based on their hormone reports

Correct Answer :-

 In colloquial terms, Oxytocin has been christened the love hormone



9) Fill in the blank with the correct option in the given sentence:

Changes in climate can result in species
1. diversification

2. diversify

3. diversities

4, diverse

Correct Answer :-
o diversification

10) Which of the following options best combines the two given sentences?

He met with an accident. He was on his way back to his home.
1. While he was on his way home he met with an accident.

2. Meeting with an accident he was on his way back to his home.

3. Being on the way home he met with an accident.

4. He met with an accident and he was on his way back to his home.

Correct Answer :-

e While he was on his way home he met with an accident.

11) Choose appropriate articles for the given sentence:

Iwentto____ Universitytoget __ admission form.
1. no article required, a

2. a, the

3. the, an

4. a, no article required

Correct Answer :-

e the, an



12) Choose the appropriate option that rewrites the given sentence in its active voice.
Our car hasn’t been stopped by the police so far.

1. The police hasn’t stopped our car so far.

2. The police haven’t stopped our car so far.

3. The police are not stopping our car so far.

4. The police didn’t stop our car so far.

Correct Answer :-
» The police haven’t stopped our car so far.

13) Choose the appropriate synonym for the highlighted word in the given sentence.

Jay is a very exuberant person and everyone loves him.
1. brave
2. handsome

3. cheerful

4. gloomy

Correct Answer :-
e cheerful

14) Choose the appropriate tense to fill in the blank in the given sentence:
If you the dress tonight, I it for you.

1. will bring, will have mended

2. are bringing, will have mend

3. brought, mended

4. bring , will mend

Correct Answer :-

e bring, will mend

15) Choose the appropriate antonym for the highlighted word in the given sentence.



An individual’s speech difficulty may be aggravated by situations that arise from his anxieties or
fears.

1. developed
2. worsened
3. endangered

4, calmed

Correct Answer :-

e calmed

16) Choose the appropriate pronouns for the given sentence:

When the friends went to Krishna’s house, realized that friend had been abducted.

1. they, their
2. we, theirs
3. we, my

4, he, his

Correct Answer :-

» they, their

17) Choose the appropriate conjunction for the following sentence:

I had reached home it started raining heavily.

1. hardly, then
2. scarcely, when
3. scarcely, since

4. no sooner, when

Correct Answer :-

« scarcely, when



18) Choose the appropriate prepositions for the given sentence:

Itisthegreed ___ power combined the thirst fame which constitutes ambition.
1. with ,of, for

2. for, with, for

3. of, for, with

4, with, for, of

Correct Answer :-
o for, with, for

19) Choose an appropriate modal for the given sentence:

We were very worried. Someone have stolen our luggage.
1. would

2. will

3. might

4. can

Correct Answer :-

20) Choose the option that best explains the highlighted expression:
The language they spoke among themselves was all Greek to me.

1. in its purest form

2. only in Greek

3. meaningless and incomprehensible

4. mysterious

Correct Answer :-

* meaningless and incomprehensible

21) Choose the option that best explains the highlighted expression:



I cannot stand on ceremony with my friends.
1. avoid being invited

2. dislike ceremonies

3. get personal

4, be formal

Correct Answer :-
e be formal

22) Choose the option that best transforms the sentence into its Indirect form:
‘Please let me go to the cinema,’ she said to her father.

1. Please let’s go to the cinema she said to her father.

2. She said to her father to go to the cinema.

3. She pleaded her father to let her to go to the cinema.

4. She pleaded with her father to let her go to the cinema.

Correct Answer :-
» She pleaded with her father to let her go to the cinema.

23) Choose the option that substitutes the given phrase appropriately.

A person who is very talkative
1. speaker

2. orator

3. garrulous

4, voracious

Correct Answer :-

e garrulous

24) Read the sentence carefully and choose the option that has an error in it:

He obtained a lectureship at university.



1. at university.
2. He obtained
3. a lectureship

4. No error

Correct Answer :-
e at university.

25) Change the given sentence to its direct speech.
She said that she stays in a hostel.

1. She said, “She stay in a hostel.”

2. She said, “I stay in a hostel.”

3. She said, I stay in a hostel.

4. She said that, “I stay in a hostel.”

Correct Answer :-

» She said, “I stay in a hostel.”

26) Fill in the blank with the most appropriate préposition from the options giyven.

The teacher spotted many mistakes in the composition, when she went it.
1. from

2. across

3. into

4. through

Correct Answer :-

 through

27) Fill in the blank with the correct option in the given sentence:

The state or condition of being misplaced in time is called an anachron--.

1. --ism



2. —-ic
3. --icle

4. --ology

Correct Answer :-

28) Fill in the blank with the correct option in the given sentence:

You should not be so --grateful to those who have helped you.
1. un--
2. im--
3. dis--

4. in--

Correct Answer :-

29) Choose the right tag:

Aunt Elizabeth walks very fast, ?
1.isn't she

2. hasn't she

3. does she

4, doesn't she

Correct Answer :-

» doesn't she

30) Choose the most appropriate determiner from the options given below.
I'm peeling carrots and potatoes to make some curry.

1. that

2. these



3. more

4, much

Correct Answer :-

o these

Topic:- Social Science (SSC)

1) Who were contemporaries of Kanishka? / TSP P GHBT BT A?

1. Asvaghosha, Kamban, Nagarjuna / 374T€EY, &hald, o-lldllclrl
2. Asvaghosha, Nagarjuna, Vasumitra / 3149, FI'I'?J'IT\_{IH, algiﬁa

3. Asvaghosha, Kalidasa, Nagarjuna / 3%T€l¥, Hifelgd, o-lldllclo-l

4. Kamban, Banabhatta, Asvaghosha / Ci:eld, dIdHCC, Y

Correct Answer :-

. Asvaghosha, Nagarjuna, Vasumitra / 349y, H’WﬂGi?-f al'\ﬁ_iaﬂ

2) Which neighboring country of India was referred.to as‘Serendib” by the Arabs? / HRd CAT

TSI 3 F1 3REl gRT W & U H Agia fpar ur2
1. Nepal /90Td

2. Pakistan / UTfh&d™

3. Myanmar / FITHAR

4. Sri Lanka / dieiepT

Correct Answer :-

« Srilanka / ST

3) Evaluation that is used to monitor the learning progress of students during the period of

instruction is called as/agqum,wﬁﬁé‘waﬂamﬁ%amma‘raﬂmmﬁ
AR B3 & fore swwTe fova ST @, =T e e

1. Summative evaluation / TTTcHD divﬂicm-l

2. Diagnostic evaluation / STl HedTdhel
3. Placement evaluation / T a1STe HedTehe



4. Formative evaluation / fA@ToTTcH® EFLF?JI'I?FT

Correct Answer :-
« Formative evaluation / fHTOTcHed Hedide

4) What do you mean by BOD (Biochemical Oxygen Demand)? / d1.3i.3}
(S Aed ifRiie feris) | smusT =T fiurg 82

1. Oxygen demand by aquatic plants / STellT Gt gRT JHTerdISTeT &l AT

2. Oxygen demand by aquatic animals / ST URJ3T §RT JTeFETST Y AT
3. Industrial demand for oxygen / 3iTaFeToTe & foIT I3 AT
4. Water pollution by organic waste / Sifaes 3ufre grRr ST UquuT

Correct Answer :-
« Water pollution by organic waste / Sifaes 31afre grRr ST UquuT

5) defined, ‘Social Sciences as those bodies of learning and study which recognize the
simultaneous and mutual action of physical and no-physical stimuli which produce social

relation’. / a1 ufuifa forar 5, amnfore fagm, St ofik sreaga & a9
fromal & w0 # § ot IRIfYE SR RIS SxiwATeH FruRwR® fhar #f Wed Hd
2 ok g Hey s £ 1°

1. James High / GT:FR:[ TS

2. Macaulay / Heprol

3. John Major / el AR

4. Bining & Bining / fafetar Us fafder
Correct Answer :-

« James High / 33{1:[ ?Ié

6) The research that is based on observed and measured phenomena and derives knowledge from
actual experience rather than theory or belief is known as: /

MY S Sgars R g gesi uv ruia giar @ iR Rigid a1 YR & seimg
I AFHT ERT T UTE BT 8, S g

1. Empirical research / GHﬂ“-m 3N



2. Survey research / TJ&TOT =dwoT
3. Deductive research / YT 3f=ayoT
4. Quasi-experimental research / -TAITcHAD 3edyoT

Correct Answer :-

« Empirical research / 31’@% 39U

7) According to Seligman, ‘Ethics and Education’ are included in: / AT & SIR Afamdr
3R fRigm saH A gid &

1. Semi social science / 31 @A fa=ta

2. Social studies / ATATSG FEITA

3. Pure social science / &g qrATSR o=

4. Science with social implication / GTHTToTeh fafeary aren fa<re

Correct Answer :-

« Semi social science / 379 TTHAITSIHR =T

8) Which one is not a Nataka (Play)? / A& & &l v ATesh (SA) AT 72

1. Pratigya Yaugandharayanam by Bhasa / HI¥T gRT EiGEl ﬁIWfq'UU:[

2. Saptasati by Hala / & gRT ¥@dd

3. Uttara Ramacharita by Bhavabhuti / #@¥fd gRT 3oR IFaRka

4. Mricchakatika by Sudraka / ge §RT HTohIeHl

Correct Answer :-

« Saptasati by Hala / &el gRT GgddT

9) SEBI stands for A SEB) FTREGa®T___ §

1. Securities Exchange Board of India / AR Taradst 1S 3T sf3ar

2. Securities and Safeties Exchange Board of India / FRaraREet U Awa TFHdS d1S 3T sf3ar
3. Securities and Stocks Exchange Board of India / fA@REIST U5 Teie Taadst dis 3% &f3ar

4. Stock Exchange Board of India / Tl TaFERIST A% 3T sfear



Correct Answer :-

« Securities Exchange Board of India / A&t Taradal 1S 37T sfear

10) What is the standard sea level pressure in millibars? / #ATeleh '\‘l'ﬂﬁ TR &1 19 fFAfaearR &

FAT AT 8?2

1. 1000 millibars /1000 AR

2. 1100 millibars /1100 FAfe@R

3. 1013.25 millibars /1013.25 fAfera

4. 1025.00 millibars /1025.00 fAfeeR

Correct Answer :-

o 1013.25 millibars /1013.25 fAfer@rR

11) When was the National Human Rights Commission constituted? / ITSEIT ATAGIIASR AT
T ST Fd [HAT 14T AT?

1. 1992
2. 1995
3. 1996

4. 1993

Correct Answer :-
e 1993

12) Why should social science be a part of a core curriculum? / HTHITSS AT FY v iy

UTeaHHA 1 feear #4 g aifge?
1. Helps to develop critical thinking / 3T&<T Ard Pl fAR AT el H AcG T &

2. It deals with human behavior / TE HATAT TR T FAAT &1
3. To develop awareness of the world / T4 &Y SITITERRAT I faRTAT H & o]
4. To develop the country / G2 ! fTARAT i & forv|

Correct Answer :-



« Helps to develop critical thinking / ITgl 1T I [ARTAT HIA H FAGE AT &

13) ‘General Ticket System’ is another name for . | ‘Steiter fewe gormely T QAT
T B

1. Multi-Member Constituency / Ig-HeEd IECICCRIE]

2. Triple-Member Constituency / F¥-TEg IGEIEG R
3. Double-Member Constituency / T§-Heed aTae &=
4. Single-Member Constituency / Thel-HGET IGLIEGEAE]

Correct Answer :-

« Multi-Member Constituency / Ig-HaFd IGEICCRAE]

14) Discussion method is also known as: / IR=rdT Wﬂﬁ' F 3T JH H off eI ST R
1. Project method / GRS Ugia

2. Holistic method / QUTATETET Ug

3. Socratic method / W?ﬁ Ugid

4. Activity method / foRaTeRelTa Ugfa

Correct Answer :-

o Socratic method / Hi?ﬁll(_-il U@'ﬁ

15) Observation of one’s own behavior by looking within is el eaf@a & A
I ¥ AT SATHHT TIT & YA FT JTATheT FgdTaT gl

1. survey / TA&TOT

2. experimentation / GITIT

3. introspection / e Tdellche
4. rating / HeAThel

Correct Answer :-

« introspection / ecdTdellche



16) Who among the following is associated with the perspective of “Education as Social

Transformation”? / fAFITAf@T & ¥ Fia “wrnfae TRads & T 7 Qe 59 eoemor @
weafla g?

1. Mahatma Gandhi / #AGICHT e

2. Dr. Radhakrishnan / ET. NEICRVE]
3. Jacques Rousseau / STap U =1

4. Paulo Freire / Gr3ell $ha¥

Correct Answer :-

« Paulo Freire / TSl %‘3\'

17) Who among the following issued the founding charter of the English East India Company? /
farafafaa & ¥ fFus sfoar $ve 339 Huet #1 gramas aret SRt Far?

1. Elizabeth I/ uiaa T
2. James 11 / JFF 11
3. James I/ SFT 1

4. Charles 1/ dTed 1

Correct Answer :-

« Elizabeth I/ Ui I

18) Who was the Sultan of Delhi at the time of establishment of Vijayanagra empire? /
fasTaae R QraTe Y T F FHY el F1 ot wieT 912

1. Balban / defdlel
2. Qurtub ud din Aibak / PJd-3G-81 Ve
3. Razia Sultan / IS edld

4. Mohammad bin Tughlaq / Fe&Faq foeT JITeldh

Correct Answer :-

« Mohammad bin Tughlaq / FIgFaG faT JITelh



Who was the first President of the Indian National Congress? / R IEIT HTAF & JIH
3reget Hie A2

1. Womesh Chandra Bonnerjee / TR g dtoil
2. Badruddin Tyabji / 96351 dgeoil

3. Bipin Chandra Pal / [af0e ¢ arer

4, Lala Lajpat Rai / SITelT eIToTdd T

Correct Answer :-

 Womesh Chandra Bonnerjee / SHHLI Teg, deToil

20) Who remarked that ‘our secondary education remains the weakest link in our educational

machinery and needs urgent reform.’? / foraer feoqufY &Y &6 garlY ATeafas favem, gard dMarw
FPTH FT TIR FASR F31 ¢ 3R $HH THTe FUR $T AraeTel1 81"

1. Dr. Rajendra Prasad / 3. 3oleg, 941G
2. Dr. S. Radhakrishnan / 8f. TH. JUTHOTA

3. Dr. Ambedkar / 3f. {HISHT

4. Maulana Abul Kalam Azad / #ISIET 31gcl HellH 379G

Correct Answer :-

« Dr. S. Radhakrishnan / 3. TH. JTUTHE0T

21) Inquiry-based Learning is based on which philosophy of education? / 3=a¥oT-3TtTRe
IO, e F fFw g ww ameaTRa &2

1. Realism / ?IQITQi'EITE\"
2. Idealism / 3-11?.\"2131?\'
3. Existentialism / 3TT&dcddIg,

4. Naturalism / Uepiddic

Correct Answer :-

« Naturalism / Jepfadrg



India signed a 20 — year ‘Treaty of Peace and Friendship’ in 1971 with . HRA A 1971 &
& a1y 20 e <enfa 3R e @R W gEamR

1. Sri Lanka / Y fepT

2. Bangladesh / STIelTGer

3. Soviet Union / @faad I9
4. US / AR

Correct Answer :-

« Soviet Union / @ifaaa g

23) is a body of the United Nations composed of all member states. / HIFd TS
$Y v s1E § S Teft e vt ¥ fAfAa €1

1. Security Council / GI&TT UREG
2. Economic and Social Council / 31Tfdes v grariaies uRue
3. Trusteeship Council / =ITHT TREG

4. General Assembly / AGTHHAT

Correct Answer :-

» General Assembly / HASTHHT

24) The benefits of Green Revolution in India were limited only to ./ 9IRd H gRa Fifa
& T hael da& @ifaa

1. Wheat and rice / fl'f?\&ﬁ? dldel
2. Barley and jowar / Sit 3R SR
3. Barley and cereals / it 31X 37ATST
4. Rice and barley / dTdel 3k s

Correct Answer :-

« Rice and barley / gTael 3R St

25) The head of a guild in ancient and early medieval India was called ./ et 3
YRAF ACIIINT IR H 0F 96 F 7T H &g SITaT 4Tl



1. Adhikari / 37TQIY
2. Adhipati / 37fufa
3. Gahapati / ITgafd
4. Jethaka / i

Correct Answer :-

« Jethaka / SId®d

26) The study of fossils as a way of getting information about the history of life on earth and

structure of rocks is known as: /tgzﬁwahaaa:sﬁmaﬁtmm?ﬁm%ﬁw#
SATAHTY Yo F1 Y v fafer & ¥ F Sfaneat 1 sregae 98 Fgarang:

1. Ecology / E,?Iﬂ?l'TT:ﬁ

2. Geography / TSI

3. Paleontology / NIERIG IS
4. Geology / ToIaTeISIl

Correct Answer :-

« Paleontology / UferaiAeTaroil

27) The thickness of the Troposphere is maximum at the Equator during which of the following

seasons?/Wﬂwwm(mﬁmmﬁ@mmﬁmm
gl g2

1. Winter / 2fTcIehTellel

2. Spring / a&J

3. Summer / JTSHBTATA
4. Autumn / S FJ

Correct Answer :-

« Summer / FCHBTIA

28) The value of final goods and services produced in an economy in a year is known as

/ Ok ¢ # forelt ardfoaaedT # Scuried Jfaa avqat 3R Jasit & e A & T & A



STt

1. Per Capital Income / UTd Gait 31

2. Gross Domestic Product / Hehel B[ 3cUTG
3. Gross National Income / Hehel ITEIT 3

4. Gross National Product / Hehel I ScUTG,

Correct Answer :-

« Gross Domestic Product / Hehel B¢l 3cUTG

29) Objective-based teaching is suggested by: / 3GaRF-HTLTR FALTOT g7k qART LEIRITE FF
1. C. Norman /@f. '_‘ﬁﬁ:[

2. D.W. Allen / E1. 3, Teld

3. Benjamin S. Bloom / SR« TH. <o

4. David Crowder / 313 hisX

Correct Answer :-

« Benjamin S. Bloom / SoTTfd<l TH. Sold

30) Which one of the following is a disadvantage of Inquiry-based Learning? / ffRf@ad
FieT IAVOT-3TeTR 3TAITH F71 UF ATH§?

1. Promotes a deeper understanding of content / AT Al dlé(lé a Hd-l$4o-\| o Torw U & %I

2. Involves a lot of preparation and planning time / I dgd AR AR 3R ISt T QM Hcl
gl

3. Builds initiative and self-direction / UgeT 3R 3Tca-fE2uT &hT 3TUR T@AT &1
4. Warms up the brain for learning / 31T9T13T & ToIT ATEASH Pl ScdTTRd AT &

Correct Answer :-

« Involves a lot of preparation and planning time / g dgd AR AR 3R ISt T QM dcl
gl

31) Which Finance Minister of India initiated the New Economic Policy (NEP)? / R & f&&
forer et & 1§ e iy (werdeh) $ ereama e



1. Morarji Desai / FARRSI TS
2. Manmohan Singh / AAE &g

3. CD Deshmukh / @8 SEH@
4. TT Krishnamachari / E1ET oTHTTY

Correct Answer :-

« Manmohan Singh / FTAIES [&e

32) Which plan discussed in detail the food security in India? / HRd ¥ @ET qam & favfFa
Aetet W AEAR & 791 87

1. Fifth plan / Grrdl JrStelt
2. Eighth plan / 37TdT ATt
3. Sixth plan / ST ArateT

4. Ninth plan / Atdr Arster

Correct Answer :-

« Ninth plan/ﬂiiﬁ ISt

33) Which Article of the Constitution of India empowers a citizen the right to move to the
Supreme Court to enforce Fundamental Rights? / 3R & WIATeT T a7 AT 31T T
AR F! AT FAfAFRT F yafda == F fore wafea =araray # s w1 Ff0sR gary?

1. 37
2.39
3.35

4,32

Correct Answer :-

34) Which Article of the Indian Constitution provides for an independent Election

Commission? / TRAIT WIAUTST FT FHleT WY IeTedE Toh TaAT ToATd AT TSIl FHIAT 82

1.323



2.327
3.324
4,325

Correct Answer :-

. 324

35) Which of the following is not applicable to Micro Teaching? / RFifaf@a & ¥ sl q&H

fRrator (FTEHY &) 9T AT A B2
1. Immediate feedback is not gained. / dcehlel Qﬁg‘f@ urg Flﬁ gTFﬁ %I

2. Duration of instruction is limited from five to ten minutes. / fAG2r &Y 37t , U ¥ &8 [de do
AT e &l

3. The size of the learning group is small. / 37T g DI 3D BT el &

4. Teaching is carried out under controlled conditions. / freqoT, g oRfEafaat # foear srar %»'I

Correct Answer :-

« Immediate feedback is not gained. / dcehlcl Qﬁ'@ UTd el eldl ¢

36) Which of the following dynasties had ‘the longest rule? / R#Fsifaf@d # & fra Ieraer &1
ATHAST FIH T UT?

1. The Pratiharas / CIi?—I%II
2. The Palas / QTel
3. The Senas / @<l

4. The Rashtrakutas / JTERC

Correct Answer :-
+ The Rashtrakutas / 7T¥HC

37) Which among the following Viceroys was associated with the Ilbert Bill Controversy? /

farafaf@a & @ sl a1 are saad e e & Jerar
1. Lord Ripon/ﬂ%ﬁ‘q:f
2. Lord Lytton / s fored



3. Lord Curzon /@IS doi
4. Lord Hardinge / dls Elié'll

Correct Answer :-

« Lord Ripon/aﬁﬁ'q:f

38) Which among the following is a major obstacle to economic development in India? /

frrafaf@a & & Far s 7 anfd Rew & fow o ypw e e?

1. Low productivity / f@dT ScUrgahd

2. Low level unemployment / @31 TR &Y sRISOR

3. High literacy rate / 3= HI&AT X

4. Increased GDP rate / Hhel uio@culq A E[‘I?g"

Correct Answer :-

« Low productivity / feeT Scurgerdn

39) Which among the following is a commercial bank? / fAFafaf@a & @ w7 v aOSaF &=
&

1. State Bank of India / R e b

2. Regional Rural Bank / &3 10T d&
3. Reserve Bank of India / AR Rerd §&
4. Cooperative Bank / H&BRT d&

Correct Answer :-

« State Bank of India / HRART ¥ db

40) Which among the following Mughal emperors prohibited the use of tobacco? / ffafaa
# & Oy FITer gATE A AFaTE & 39ANT i gfaatt fmar ar

1. Jahangir / STeT9IR
2. Babur / dTeX

3. Shahjahan / QIT&STel



4, Akbar / 3TheX

Correct Answer :-

. Jahangir / STEIR

41) An effective teacher tries to make the class room environment more ./ Uk YHTAT
fRYeTer, FelT F araravor &1 3T AWF JATaT ¢l

1. democratic / SNhdITAh
2. autocratic / iﬁi{ﬁ?f

3. strict and rigid / HE&d IR PR

4. anarchic / 3Tl

Correct Answer :-

« democratic / NIl IH

42) The silver coin introduced by Sher Shah and continued by the Mughals was : / 2IX2Mg G
vafaa frar o s Aperel garT S @ =T Ay 1 A O

1. Rupaya / 2Udl
2. Asharfi / 311
3. Muhar / 3:I>I'(-’»T
4. Dinar / §IdIR

Correct Answer :-

e Rupaya / 2Udl

43) Many of the social problems in modern India could be due to the neglect of: /

SAMYFIP HRA | B ATATRTS THETSHT BT SR 19 B1 IV&HT &) TPhal e
1. Higher Education / 3TdaX fU&T

2. English education / 373y fvem

3. Value education / 3TTGeT fRy&Tm

4. Technical education / depeitehT fU&TT



Correct Answer :-

« Value education / 3T&e frefr

44) Who has the power to recommend the dismissal of the State Government and suspension or
dissolution of State Assembly? / I7sd VPR B @RI 3R I faum=a41 & FReiea ar
foraes ot Rrwii 33 o 2fea foas e 32

1. Prime Minister / G&ITeTT3T
2. Parliament / &G

3. Governor / 4T

4. Cabinet / hidale

Correct Answer :-

o Governor / TadUTel

45) Who is considered the father of Green Revolution at the world level? / f[d=%d TR TR Eﬁ_d

ifd & % HA T4 a1 32

1. Thomas Malthus / UTeH ATeUH

2. Norman Borlaug / ATHT IReATT

3. Cecil Salmon / G el Tl

4. William S. Gaud / faferasr v, ails

Correct Answer :-

« Norman Borlaug / ATAT IR

46) Which of the following reason is responsible for highest percentage female migration in

India? / HRd § Afgd Yara &1 I=ad ufardar & fore fAufafaa & 9 @19 a1 erur
IRer 82

1. Stability / TEARAT

2. Employment / JSTITR
3. Marriage / faaTe

4. Education / fvetr



Correct Answer :-

« Marriage / faare

47) The “Helmand Province” of Afghanistan is famous for cultivating which of the following? /

fFrafafaa 4 @ feaet It & fore sremitream &1 «gavie wia» ufis 82
1. Opium / 371
2. Wheat/fﬂﬁu

3. Cotton / PUTH

4. Tobacco / ddTH
Correct Answer :-

« Opium / 37T

48) Lal Bahadur Shastri's Samadhi is also known as: / ¢IT¢eT dgTgY YA D FHITY DT FH A
A 9t ST wITe 8

1. Shakti Sthal / QIfch HJeT

2. Shanti Van / ciidel

3. Chaitrabhoomi / RIF8ATS
4. Vijay Ghat / fasr gre

Correct Answer :-

« Vijay Ghat / a1 g1

49) Every year the government announces the prices of agricultural goods as a backing for

farmers’ produce is known as ./ U ¥ IRHR frarl &t Sus & IHdT F Fu o
PV IS & B B G H g, o CadESIGI

1. Limit price / @ e
2. Base price / 3TYR Hed
3. Exchange price / fafaaa &3

4. Support price / THYIA Hed

Correct Answer :-



« Support price / FHAYIA Hed

50) How many countries of Southern Africa make the Southern African Customs Union

(SACU)? / &féroft et & foramt &= frerav gferolt snpie diar Y " (SACU) &1
fAator wa 82

1.3
2.5
3.4

4.6

Correct Answer :-

51) One species of Coffee called Coffea charrieriana is free of Caffeine. In which of the

following countries Coffea charrieriana is grown? / PHIB! DI U USTIfd o1 e =R
$81 1T 3, W & gad sidl o | 71 & 3 {59 S & SRR Susrs ol 82

1. Vietnam / faaaara
2. Yemen / IHA

3. Cameroon / chHA®eT
4. Liberia / s AT

Correct Answer :-

« Cameroon / AT

52) A variety of pedagogies that involve students in discovery or research and
employ approaches of learning is called | faftra R & e st
oAl B fre @it a1 SFAvUT § AR ¥ B, ok sﬁvma??@aﬁwaﬁﬁvﬂﬁa

X, Peadigl

1. Problem based learning / THEIT 3R 31

2. Learning from observation / 3/aellehel gIRT 37TQITH
3. Inquiry based learning / 37=dWOT 3TUTRA 37T

4. Pedagogy of learning / 3779913 T fRAGTOTRMTH



Correct Answer :-

« Pedagogy of learning / 31913 T f&ToTTH

53) Barak valley in Assam is famous for which among the following? / faFafaf@a H I 3T
1 11é) e fore wfdger g2

1. Bamboo Industry / ST& 31T

2. Petroleum Production / Ueifeldt 3carea
3. Cottage Industries / W 31T

4. Tea Cultivation / ITI Y Wl

Correct Answer :-

« Tea Cultivation / I hT WT

54) Which Unit/Scale is used to measure the ‘thicknesses of Stratospheric Ozone layer’? /

‘FEFP R ST 9T T A F ATGA & [T R SRIS/AHTS T 3TFIT FHAT ATAT 82

1. Melson units / FHelde $ChI$€JT

2. Beaufort Scale / E{‘ﬁé YHATAT

3. Dobson units / Sd&eT ShISAT

4. Sieverts / Trac

Correct Answer :-

« Dobson units / 3TITT ShTSAT

55) Quit India Movement was launched in the year . | AR DY) e 9y ) xcw
T ara )

1. 1945
2. 1942
3. 1930

4. 1919

Correct Answer :-



56) What is the approximate interval between spring tide and neap tides? / g9ed SaR-HTCT sk
oY SAR-HTET & i ITATTAe IHeTel 34T 82

1. 30 days / 30 &
2. 1day/ 1 e
3.7 days /7 f&a

4.15 days / 15 &=

Correct Answer :-

« 7days/7 e

57) The Lion capital at Sarnath belonged to which one of the following kings? / R $1 e
et fAeafaf@a # @ fra e @ gefae o4

1. Vikramaditya / TshaTiced
2. Kanishka / &t

3. Ashoka / 3721h

4. Ghatotkacha / GIelcehd

Correct Answer :-

« Ashoka / 3120

58) In which layer of the atmosphere is Ozone gas concentrated? / W AN FTRTHA

3T 3w Hfea 82

1. Asthenosphere / TEAATHIIT
2. Stratosphere / FHAATIHS

3. Ionosphere / ATIAHS

4. Exosphere / STeIHAS ol

Correct Answer :-

« Asthenosphere / TEAATEHII



59) Chalcolithic Age is also known as: / CIGEIICIDED qT I FH T H oft ST SITaT 8
1. Neolithic Age / Ao d® Eell

2. Copper Age / dTd dT

3. Stone Age / UTNTOT ZdT

4. Iron Age / CIES T

Correct Answer :-

« Copper Age / dTd T

60) During the reign of which of the following Mughal rulers, did Ahmad Shah Abdali invade
India for the first time? / T & @ frwas amwaTahTer & FIrer ATHS HEHT ATE IeqTell
qgell I R 9T ITHAT fHaT 412

1. Jahandar Shah / agialz AMe
2. Shah Alam II / Tg 3Teld 11
3. Bahadur Shah / EI%IE,:I ATE

4. Ahmad Shah / 3&dA¢ ATe

Correct Answer :-

o Shah Alam II / & 3ATAH 11



